Evxam (2

1) Construct the image of the given triangle after D_; p. (10 pts)

A

2) Isthe image from #1 isometry? If yes, direct or opposite? Explain. (5 pts)
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3) State two other single transformations that result in the same image as dilation by a factor of -1.

(10 pts)
Pouck "eoﬁdf’«\ a\w,:]- T
Rostodtion & (8" apost P

4) Find the center of dilation from the given sketch. (5 pts)
*Each box is a unit box.
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5) Given:l|| m
Find the measure of x. (10 pts)

X=4r"

6) Two interior angles and an exterior angles have the given measures. Find the value of x. (10 pts)
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7) Given: D is the midpoint of BC.
£LADB = LADC

Prove: AB = AC
(10 pts)
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8) What is the image of P after the given composition of transformations? (10 pts)
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9) State the composition of transformations that maps AABC to AA'B'C’. (10 pts)

CI

10)Is the given a glide reflection? Explain. (10 pts)
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11)What is the center of the circle described by the given equation? (5 pts)

x?=3x+y*+6y=1
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12)Find an equation of perpendicular bisector of AB with A(2, 3) and B(0, 3). (5 pts)
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5.
Given: AB
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Concl.: AF bisects ZBAC.




